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4. [Z]RATZAA AN 2,000 2,000 0
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2. A EA - 4,213 4,213 0
1.[z]=d A= 4,213 4,213 0
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2. 71 AE2AH AT 800 800 0
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A+ A=A 714 H) 1 a2 ()
Il AL L T PP P I o o I o s T
8. 4 K w3}y 21,440 1,440 20,000
1. [2]14R e 1,440 1,440 0
1.e95a 1,260 1,260 0
2. 05y 180 180 0
2. =199 REE9 20,000 0 20,000
18959 13,920 0 13,920 égéiféigﬂiiigfim(%Xj') : 12,960,000
A ERE A (E4) @ 960,000 +13] 960,000
2. 30589 v] 5,600 ol 5,600 “ﬁ)ﬁégiﬂﬁio‘% =E TER) 6,000,000
i;H; 9 BF FYEH)  -400,0009 ~400,000
18] = QX &) FE O (B
3. A A R 480 0 480 (X;) H:%?()T(x))g:z;;:gi%: 1R (s 480,000
2.%4 AL 15,608 57,050| -41,442
1AESE 8,250 10,050  -1,800
L[]89 4,200 4,200 0
1. &89 4,200 4,200 0
2. [Z]1AFASNI LA AGEAA 4,050 5,850 -1,800
1. 8o 4,050 5,850  -1,800| A& w3 SAANFE 1 -1,050,0009%13]= -1,050,000
A P EF ¢ 750,000 %13]= -750,000
2. 84T FLE 2,218 41,560| -39,342
1.[=]d8AReE 2,218 41,560| -39,342
1. 58] 2,218 41,560 -39,342 iﬁ izﬁﬂ@i}ﬁ ARApgAl 2 -57,000 -57,000
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éﬁh 2] (= 2H) 4,200,000 %13 4,200,000
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éﬁ A AR (A 0 -3,900,00090+13] ~3.900.000
13 zF2kn] (S=2) - =) S
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